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ENDS 231.  Assignment #5 
 
Date: 2/20/07, due 2/27/07  Pass-fail work 
 
Problems:  from all but 5A from Onouye, Chapter 4. 
Note:  Problems marked with a * have been altered with respect to the problem stated in the text. 
 
 
5A) The floor framing plan is subject to uniform distributed loads of:  dead load = 45 psf, 

live load = 120 psf.  Determine the resulting reactions by the beams & on the 
columns. 

  
Partial answer to check with: RB1 = 8415 lb, RB2 = 22,275 lb, RB3 =13,860 lb, C1 = 22,275 lb. 

 
 
 
 
 
 
 

Partial answers to check with:  Ay = +1,733 lb., 
 Bx = 0, By = +3,067 lb. 

 
 
 
 
 
 
 

Partial answers to check with: Ax = 0,  
 Ay = -1.5 kN, By = +10.5 kN 
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Partial answers to check with: '.x̂ 510= , '.ŷ 25=  
 
 
 
 
 
 
 
 

Partial answers to check with: 0=x̂ , mmy 196ˆ =  
 
 
 
 

*Use metric units, and a W310x143.  (W310x129 is not listed.) 

(W310x143) 

(309 mm) 

ref. origin 


